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QUESTION 1

Which three types of ports are used for Junos Fusion Enterprise? (Choose three.)
A. extended port

B. authenticated port

C. cascade port

D. uplink port

E. designated port

Correct Answer: ACD

QUESTION 2

Which statement is correct about MSTP?

A. MSTP enables mapping multiple independent spanning-tree instances onto one physical topology.
B. MSTP enables dynamic discovery of Layer 2 neighbors.

C. MSTP dynamically manages VLAN registration in a LAN.

D. MSTP uses stacked VLAN tags to extend a Layer 2 Ethernet connection between multiple sites.

Correct Answer: A

QUESTION 3

Click the Exhibit button.
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[edit]
userfrouter# show protocols bgp
group BGP-MESH
type internal;
local—-address 172.10.50.200;
family inet {
unicast;
}
export NHS;
cluster 172.10.50.200;
peer—as 65001;
neighbor 10.10.0.50;
neighbor 172.16.200.4;

[edit]
userfrouter# show policy—-options policy—-statement NHS
term BGP ROUTES {

from protocols bgps

then {
next-hop self;
acceptr

}

}

You are investigating reports of increased latency and discover that some routes cause customer traffic to traverse a
route reflector instead of the optimal path.

Referring to the exhibit, which configuration statement would solve the problem?
A. delete protocols bgp group BGP-MESH peer-as

B. set policy-options policy-statement NHS term BGP_ROUTES from external
C. set protocols bgp group BGP-MESH import NHS

D. delete protocols bgp group BGP-MESH export NHS

Correct Answer: B

QUESTION 4

Click the Exhibit button.
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user@switch# run show dotlx interface detail
ge-0/0/15.0
Role: Authenticator
Administrative state: Auto
Supplicant mode: Single—-Secure
Number of retries: 3
Quiet period: 60 seconds
Transmit period: 30 seconds
Mac Radius: Enabled
Mac Radius Restrict: Disabled
Reauthentication: Enabled
Configured Reauthentication interval: 3600 seconds
Supplicant timeout: 30 seconds
Server timeout: 30 seconds
Maximum EAPOL requests: 2
Guest VLAN member: guest
Number of connected supplicants: 1
Supplicant: J0coaB8dbaedle, 50:C5:8D:BA:ED:16
Operational state: Authenticated
Backend Authentication state: Idle
Authentication method: Server-Fail! Vlan
Authenticated VLAN: guest
Session Reauth interval: 3600 seconds
Reauthentication due in 3393 seconds
You are authenticating user devices connected to your EX Series switch. You have 802.1X and MAC RADIUS

configured for all ports. A user is complaining about the time it takes to connect their non-802.1X device on ge-0/0/15
using MAC RADIUS authentication.

Referring to the exhibit, what should be done to accelerate the authentication process?
A. Configure the restrict feature for MAC RADIUS on ge-0/0/15.

B. Configure the no-reauthenticationfeature for 802.1X on ge-0/0/15.

C. Change the 802.1X retry attempts value to 5 on ge-0/0/15.

D. Change the supplicant mode to multipleon ge-0/0/15.

Correct Answer: D
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QUESTION 5

Click the Exhibit button.

userfrouter# show interfaces ge-0/0/1
description “Customer Port”;
flexible—-vlan-tagging;
native-vlan-id 150;
encapsulation extended-vlan-bridge;
unit 10 |
vlan—-id-list 100-200;
input-vlan-—map push;
output—vlan—-map pors
}
userfdrouter# show interfaces xe-0/0/48
description “Uplink Port”;
vlan-tagging;
unit 10 §
vlan—-id 10;

ucerfrouter$ chow wlane w10
interface ge-0/0/1.10;
interface xe-0/0/48.10;

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? (Choose two.)
A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 150.

B. The C-VLANs 100-200 will be sent as the inner VLAN tag.

C. The C-VLAN 150 will be sent as the inner VLAN tag.

D. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10.

Correct Answer: BD
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